Math 6 - Unit 4: equations & Inequaiities

key

T

Name:

Study Guide - End of Unit Test

Class Period: 1 2 3 4 Date:

MULTIPLE CHOICE
Identify the choice that best completes the statement or answers the question.

1.

List out the characteristics of a direct variation graph. (Where does it start, what does it look

like?)
STARTS AT TME  orlaery (0 o)
STRAIGHT LINE
Solve the equations below. Show all of your work, including the check. ‘
2. gx=424k 4z, 3. 67+c=18 (F+L=1534, j-56=46 |52-5.L=YL
5 : —:J- . v ' . ’
o w5 L, cra=igs 1S _ese SUOT gLy
| N
¥=210 ”,z" | S "J'-;}_:'“‘f}‘ ¥ = .2 JJ.LZ
e 210 . = 1187 =t ~ 5.6
5"2@_’:;;, 52!'0 = - 183 q.C
4. Jennifer spent ?s 99 on a bag of Jolly Ranchers that cost x dollars a piece. If there were 110
Jolly Ranchers in the bag, write an equation that could be solved using inverse operations to
find out how much each Jolly Rancher would cost.  (You do not need to solve the equation.
5. Write a situation that could describe the following inequality graph. ?‘g: 'xg ;";o
i el
'ﬂ'\erf ore more Hhan 2 5 4 -3 2-1 0 1’3 4 5 l
Shudents weanng blue . X>2
6. Write an inequality to represent the fact it inere are at least 13 questions on your test. X > 15

7. Write an inequality to represent that there wre more than 125 cars in the parking lot. w >12 5

10.

1k
12,
13.

14.

15.

Gabriel wants to solve the equation, —m =25,
Which step should he do to isolate m on one side of the equation? Aivde b Y '~f

Judy spent $5.67 on oranges that cost $0.63 each. If x = the number of oranges, write an

equation that would determine how many oranges Judy purchased? BN =5, L+
Write a direct variation equation to represent the datain the table. B bt +-X=. L3
X 0 I x4 2 «35 5y K=5
y 0 52| 10| 25%| y=rx [Y=5x l

Write one possible solution and one non-solution to the inequality, x > 4. soL: S, lof
NOM -SoL
use inverse opcra.‘hons‘ on o\e's 4o

& so\bﬂ_h"'h € var ‘ablc

Explain how to solve an equation.
Complete the table to satisfy the direct variation equation, y=12x

X 0 ] : 1 5 Y=I2(1) H48=212ZX Y:12(6)
- ]
y 0 12 24 48 0 A e
What inequality is graphed on the number line?
1 1 1 L 1 1 1 1 1 1 1 1 x > Z
-10 -8 -6 4 2 0 4 6 8 10 s
What inequality is graphed on the number line?
S 0 2 e TR R X<y
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equati®”

16. What direct variationlis graphed on the coordinate plane below?

. 4 KelO

H 17110

3 2P0

: P Y=)0X
|

17. Julia paid $140 for 7 gift cards. Each gift card was the same price. Write an equation that
that represents the situation i i = =
ﬁ_pzo i g?’& Clargnd find the price of each gift card? F-x I%Q x=20
18. A music teacher bought 17 recorders of equal price. She spent a ’ro:f‘ol of $51. The equation

17r =51 can be used to findr, the price of each recorder in dollars. ng’r{vavsus the price of

each recorder? HAr=5] r=23 #5! per 3 EX Y]
o AR recorder. : Sl=5)v/
19. Mrs. Katz bought chick-fil-a biscuits for her homeroom and spefit a total of $160. If each

biscuit cost $5, write an equation that you could use inverse operations to solve an splve jt fo
find out how. y biscuits Mrs. Katz bought. X =160 =32 32
MRS, KAT2 SBugir 35 §eans 2,5 o5(s2)= 160 Sise s
20. Wt;lscr;sclluslionlrgokes the equation true?  x — 6.5 = 19 :c‘:.gg,z; . TYe Jie
- e = - . - (=]
(959 . X=255 . +6.S +6.5 Px . > .
For questions 19-21, determine whether the given value is a solution of the equation by selecting
true or false.

k

21.25':; fork =3 ‘ 25=- % 25‘?11
a. TRUE [0 FALSE |

-4 2

22.0.7y =49 fory =70 D.Fy= x . F

FF0)=41 526
(a. TRUE' b. FALSE gl § 49.
23. Silly Sally solved the equation for x and shcws her solution below. What should Silly Sally do to

correct her m;slikg?: - she should have sulotracte d 36
from _Bomi. sicks.

36+x=54
-36 F36
x =90

24. Opposite operations that “undo" each other are called inverse operations .

25. Which step should be taken to Isolate the variable in the following equation?
: 213n = 1418

divide by 213> on koth sicles
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